(cosja,sin &)

(cos B,sin f3)
(cos(a — p),sin(a — B))
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(1)0)

(cos a —cos f)* + (sin & —sin B)° =
(cos(a — B)—1)* + (sin(a — f) - 0)°

cos’a —2cosacos fB+cos’ ff+

sin® @ —2sinasin B +sin’ B =

cos’(a— B)—2cos(a — ) +1+sin’(a - B)
1+1-2cosacosf—2sinasin f =
1+1-2cos(a— p)

cos(ax — ff) = cosacos f +sin a sin B

Sum and Difference Formulas for
Cosines

cos(a + f8) = cosacos S —sinasin B

cos(a — 8) = cosacos S+ sinasin B

Find the exact value of cos(105°).

cos(105°) = cos(60° + 45°)

=¢c0s60° cos45° —sin60° sin45°




